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Answer Sheet No.

S fmeenle LS L oz L i, Invigilator Sign.

Fill the relevant bubble against each question according to curriculum: Candidate Sign.

| Question Jir A B c D Al B ] c] o]
In given expression what is the product?
[R][s]
K =—lJd_
1. ¢ PR PQT RS S5QT
[Pllollr] Q © O O O
P T
2 The pH of acid rain is_ less than: 10.6 96 76 58 O O O O
../"_d:f{;.. pHJU:J.:J_’
Molecules of amino acids join to form ajCarbon
protein by eliminating molecule, dioxide Ammonia Water Alkyl group
3. s " . . 2
~abrefi S il S22 d L st | AT B Lyl d _;,f S O O O O
4 The percentage of Nltrogfan in the air 135 0.00005% 21% 78% 90% O O O O
g i Y AN
Complete the reaction.
5. H,CO,+2NeOH—— +2H,0 Na,CO, Na(C0O,), NaH,CO, NaHCO, o O O O
_ LSF P
One Ozone molecules has number
g, ©of oxygen atoms. 1 2 3 4 O O O
?@un;‘zf»’{fuktéuf-f? LI e O
The density of water is maximum at:
7. N .1 0°C 4°C 100°C —4°C
—{'—d!"{. ;ﬁc”e)_L_Jc_uE)[,(dlé O O O O
The reduction of alkyl halides takes place in
g. the presence of: ALO, at 350°C! H,80, at170°C | Zn+ Ni Zn+ HCI O O O O
‘-’c‘:..d.rrﬁ(ﬁﬁrJJa.bﬁaﬁszdﬁ,zJJfﬂjJ’ﬁi
The soap forms scum with: Hard water | Soft water Heavy water |Pure water
9. A . . .
v F AL ool s dizil dLge dre O o O O
Percentage of Nitrogen in urea is;
10. N 35 21.2 80 48.6
b Fr sty O C O O
Oil detergent is used to concentrate a!Flotation Cyclone Magnetic Concentration
11, metallic orein: process separation separation oy grinding O O O O
S';_t‘lgl_..fdz_}'/ FedosznZ Sz sk S o s R Aot A _,cJ & /
The functional group of aldehydes is:
12. art -NH. —CHOQO -0 -COOH
selof o/ POl o O C O
e SA-] 24008 (B) emee
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SECTION — B (Marks 33)
Q.2 Attempt all parts. (11 x 3=33) LSS e 240
() | write names of the following: ,uf’ﬂ rl:&u'?@» \é\;?s;);spf??ggsd?“me'? V&
C3Ha c. C4H! b. C:H,;Ef': a. 1x3 OR i ‘{ . 1+2
Ve Lhes uw.«ﬁfu?g.ﬁvﬁ?;‘_,g(u»@
{iiy | Write the names of the three raw materials used to Mow is methane prepared from methyl chloride?
manufacture sodium carbonate. 1x3 | oRr | Write complete balanced reaction. 142
,fﬁrtlfﬂmrl&di_uﬁ_ndbz’lé.Lé_hu‘d’:j;b@)’f -ﬂ(ﬁdﬁgldluﬂf”JJIQ_)’:?{_U%JQQ{J:LED%J/@
(iiiy | Write down balanced chemical equations showing . . . .
the formation of salt in the following. Briefly describe follgwing with examples. o
e b Gt pfba sLalGd | 15 | S Yl %, -
: —— . - : + a. | Mono saccharides I8 Fa g x
a. Acnd-BasefRea;cﬂo;} ‘,r%m'tziuflﬁ—ﬁ 1.5 b. | Proteins e
Reaction of acid wi N . - T x
B metal |oxide U’g'd“”' L LSk c. | Vitamins 2
(iv) | Briefly explain the strange behavior of water with Derive alky! radicals from the following alkanes.
temperature variation and its importance. Write formulas as well.
BEAN S AR e sindl® a7 oz 7 5 SO e . OR| a. Ethane ts¢ b. Pentane 0dy c. Butaneodss 1x3
o . ) _u’lﬁtf’l..f‘zb'_q},}lgﬁi_/d,glLufk(luf’(y»
{v) | Determines the reactants and preducts in the Identify any two functional groups found in Amino
given expressions: 5 acid. Draw structure of an amino acid.
,L{/urls‘;JJ“/sl/,u;%wu:ﬂ;fl&'w + OR {jfﬁdlﬁ’l~g,{’__{—duwd/u?[:/r¢}:6nrﬂ_éﬂﬁrgﬂb_lﬁi 142
« - [H:01[C0] _ [CH,0H] 18 Luf
© o [H,]IC0,] ©[2H,][CO]
(vi) | Hard water hampers the cleaning action of soap. How? Briefly explain roasting process with two examples, | 1.5
,u‘_./:)U:Tr"_ij'..b:K;/T(ufﬁlsﬂu'J& x3 | OR _,u_:fy[.é:c_u:fﬁ'» J:J/u;ﬂu 1+_'5
(vii) [ What are Arrhenius acids and bases? Briefly explain| 4 ¢ What is meant by water borne diseases? Write|
with examples. + OR | symptoms of any two. 1x3
_q/(’fufﬁivLuﬂﬁ'?ugz.ng_,l-/:mu{/ru—’f‘ﬁﬁ 1.5 _u_’f/j;,wcUGJJ(‘."{_J:/ga,u;_w;.dué_mg,;Jg
{viii}{ Differentiate between open chain and closed chain 15 Briefly describe acid rain. Write its causes.
ds with the help of structural formulas. ' J’J L s s, .. 1B
compounds with n + | OR 2 e S e ASIABE | s
..é-.r(‘:l:d/c_u Ju)r:ﬁu’puf.-.yf/uﬁjfmcf,;l 1.5
(ix) | Write two methods for the preparation of ethane. 15 Sucrose, lactose and maltose are disaccharides.
Give chemical equations. y + oRr | How? 1x3
_.u‘_/(/_fu.’f-M/'d“L/..uiuﬁ’Ja_/’» é:dzi}'d/wfﬂf 1.5 ‘-'u,?c‘_.(ﬁfl/‘(jﬁdisacchmdss, :ﬂL/JFJ}gd:/L
(x} | Write chemical reactions to show ozone layer 15 What is meant by self-ionization of water? Write its
formation. . OR chemical equation. : 1;5
LS RS Aot sl sl 15 . I (A T e Tk gl | 15
(xi) | What is global warming? How is it caused? _ How does industrial waste pollute the water?
te Gnel et/ B F +2 | OR o SBES IS T e 03
SECTION — C (Marks 20)
Note: Attempt all parts. LSS el
Q.3 | Describe equilibrium constant. Derive K, Describe the Bronsted-Lowry concept of acid and
expression for general reaction: base. E)fpialn the following reaction in light of this
G K 6L s ghnolo B 2t Ly concept . -
- A - o 2+4 | OR H,0+NH,—NH; + OH 343
ad+bB—=cC+dD JJ!‘JJ{JJ{{’U’J e;fy.f)_é:ru_l_/./)j{fu’—f-)_!/_ Fut i
-g;:&?&:ufdju
Q.4 | What is soft water? Explain two methods for What is RNA? Describe structure and function of
removing permanent hardness of water. 2+4 OR | RNA. i 244
_é;:)l.bufuﬂ)»éA:.LIE}}(JLQL,W?‘E..Q’(}&_‘J:’ -i.":(.wﬁﬁg;c)ism_:éVTq_gRNA
Q.5 | Differentiate  between  stratosphere  and Draw flowsheet diagram of Solvay process.
troposphere. | o . 2+42 | OR Lt S SS U | 0.528
: I =g Y ) g
Q.6 | Write names and uses of any four fractions Write chemical equations showing reactions of
obféned by fractional distillation of_pa:tro]eum. x4 | OR EMn0Q, with, alkenes and alkynes. 242
U dlrmlrl:[.;ﬂ:’zlgé_lsd_:fdlba.u’-‘v;‘d'j/(;f-{:/: -L)fgd—:blf-‘{fdi'r‘dm:if KMnO, Lfﬁbﬂ(alkcncs)‘%’
— 2SA- 24005 {B) —
SUPPLEMENTARY TABLE
Atomic No 1 2 13 4|5 |8 7 8 [ 9 10 13| 12 [ 3] 14] 35 | 16 | 17 | 18 | 18 | 20
Symbol H | He | Li | Ba | B C N O F i Ne | N2 | Mg | AL | & P 5 g | Al K| Ca
Mass Mo i 4 |7t 9 | mi123a4{16 | 19 | 20| 33 | 24 | 27 | 28 |31 | 32 1355 40 | 39 | 40
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Answer Sheet No.
S e LAES L e LU, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
| | Question i A B c D Al Bl c|D]
The naturally occurring metallurgical
1. compounds are: Gangue Mineral Rack Hydrocarbon
W it U G o o O O O
In electrolytic refining of copper, is | impure Copper Electrolytic
5 used as ancde called: copper sulphate tank Pure copper O Q O O
e bbb L B B D0 A b g¥ 2 28 £
Complete the reaction.
3. AgNO, + NaCl-—> +NaNO;, | dg.CI Ag,CL, Ag(ci), AgCl o O O O
S
For given reaction K =7
. PO R4S [’lls] (2] 5] [Plle] O 0 O O
S s [7][e] [#} [R] [&][$]
Kr =7 A.Z.U‘gidxz-y:
The pH of acid rain is less than:
5. - 8.6 7.6 5.6 10.6
_é,dﬂ[c_ pHJQ_’J_:f'_' O O O O
If peptide has amino group on left then
group will be on the right side. Ketone Carboxyl Alkyl Aldehyde
6. .J)q,’iai.j'_.;.:fi.’.’h_?)gfgA:Peptideﬁ w JJLJ&’ S praige O O O O
_h’x.?«sf
Which gas has highest percentage in the
7, air? _ico . o) 0,
T Jbdlt o titia LA : ’ ’ o 0 OC O
Methane reacts with explosion with:
8. " - 1 Cl Br. I ol
_:‘,d,f:f..rldja..éhﬁ’)ibﬁ. u‘,f: z : : : O O O O
g, Ozoneis an allotropic form of: Carbon Phosphoreus |Oxygen Nitrogen O O O O
-g_f’allou’opiczf &2
Percentage of sodium chloride in sea water:
10. : i 3.4% 27% 50% 0.02%
e brad PR o M ' ’ ' © O O O
Stem ‘But - represents number of
11. carbon atoms. : 3 4 5 2
?é_t'fﬁissruﬂzb/éj:('But—,)b;j‘;’ O O O O
Which water causes kettle (pots) to fur? Soft water Heavy water |Pure water Hard water
12. . . . \ N
fett(fur) LU adiiewd | L it G dils Bl © O O O
SUPPLEMENTARY TABLE —25A-] 24005~ (D) ——
Atomic No . 1 2 3 4 5 6 7 .8 g 10 1z 12 13 | 14 15 | 16 17 18 19 20
Symbol H He Li Be B C N O F Ne Na Mg | al Si P S Cl Ar K Ca
Mass No 1 4, 7 g 11 12 14 16 19 20 23 24 27 28 31 32 | 355 | 40 38 40
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Q.2 Attempt all parts.

SECTION — B (Marks 33)

(11x3=33)

;{,[/ Satirpll 2

{i) Write three demerits of Acid rain. - OR Why lighter alkanes are used as fuel? i3
Gl fend L | ek 2SS b L bl |
(i) \ri'\V:j{:r ;ﬁu;f)?!fjt:;g harmful effects of any three 1x3 or Briefly discuss three pdi.nts on importance of water. 03
X - s F .
..u_’//__f-c_'-lz:'f/""uldw‘Z.U).’:’)Tdmcfddf ‘-ﬁj/ﬂi‘:’gwé‘élJG&-
(i)} | Write the structural formula of the following. Briefly describe following with examples.
_éz;f“ﬂ:’)lig?béuﬁ@» _V:/.vujf?ﬁ?'l/d:.u:’ﬁ‘&;@u
a. | Neo-pentane Caifiay 20 1%3 OR a. | Carbohydrates oSy S x3
b. | n-propane Q_-,EJ:)-!U.H‘ b. | Lipids A
¢. | Ethanol e ¢. | Oligosaccharides | S Saw S8l
{iv) | Write down balanced chemical equations showing Derive alkyl radicats from the following:
the formation of salt. ) o »-u.’/i«?'uéfyjﬂic-ui‘?ﬁaibu
?z"_f%q'_.r_ﬁ;j:ubr‘(yuuflzi_—ﬁd:.:«ubf"dk[ 1.5 a. Methane et
5. | Reaction of Salt S L || 1s OR b Tso-butane Fps e 1x3
with salt ) c. | Propane :
Reaction of acid SEAL AT . P e
b. with metal oxide A
(v} | Determine X expression and units. Compare between essential and non-essential
el 2 HT 1.5 aming acids. 1.5
L ] :5 OR ..J»;.:Jb’ﬁ—,i!:’.’.‘ldn/"’/fﬂldnﬂ :‘5
_inﬁgéulxslﬁﬁggf[{c(_LZ.FQJA}@JJ
(vi} | What is meant by chemical equilibrium in a Enlist three ways in which lakes and streams
reversible chemical reaction? Give an example. 244 oR | become polluted. 1x3
_Q)J@_ng.LJ!/gmﬁ';{d:{iﬂd ﬂlﬁzggﬂxix _L{ful_«.ﬁ_i_)uféé_m)ﬂu:‘-‘?’mug;
(vii) | What is calcination? How is 0, released reused Describe Hepatitis and Chelera as water bome
in the Sofvay Process? diseases. ) 15
u,LJJJ:’LfTLEEJM:deé..nbzl&uiJ’ sl e S ONlS 2 OR X woloss? £U’iﬂfd"‘-"-”f‘-‘-’r*’—dEJCh°lcm" Hepatitis :5
?Ig(}ﬁdlﬁ"lé
{vii) Differentiate between Alicyclic and cyclic| 4 5 What is meant by seif-ionization of water? Write its
compounds with the help of structural formulas. " oRr | chemical equation. _ 1x3
_L{f(‘jb&/"r_.uJu)f;liu.?i/uf.-;lf/_ggi«»l_ggbdl 1.5 -U:J&'!PJL/.{I(JJJ{QQJlfg@{ﬂ’//t)fTh-jl.’Jd&
(ix} | Write twe methods for preparation of alkene. 15 OR Write down three advantages of Solvay Process.
-‘)."dé:{..)uﬁ.dﬂfd/(alkcne)u:ﬁl +1.5 -d_f{_fé_iﬁufl.w/:{,c_ﬂb 3
(x} }gﬁg\tﬂi{%ggnd name the functional groups in the Complete reaction: él:«);uf{'d: .5
'U:Jfrtégpr/u'ﬁ‘qfw}w‘;?"}y@dagfﬁ‘:‘—j 1x3 OR = ci-He= CH“CI+ZHN- 200-300°C :5
a. CHOCH, b. CH,COOH c¢. CH,NH, b. CH,-C=CH+2H,—=——— :
{xi) | What is global warming? How is it caused? What is Urea? Write the names of raw materials
?@Jﬁég?égﬂzhtfﬁ 142 OR | used to prepare urea. 142
-u_/xjrbf_dtruééi_lngi‘ﬁ;_ﬂ;g
SECTION -~ C (Marks 20)
Note: Attempt all parts. LSS tpl?
Q.3 | State Law of Mass Action. Drive an expression to Describe Lewis concept of acids and bases with
determine equilibrium constant. 2+4 O | examples. 343
i g L LS 2 2 S S F P ST LB\ Lo B a1t
Q.4 | What is Hardness of water? Explain the following What is Nucleic Acid? Differentiate between
methods to remove hardness of water. DNA and RNA?
IS po R d L8 TFSPEd e B | s | OR LTI T 535 W E Y | oy
a. | By lon exchange method | Sgise ghiausyl o
b. | By bailing Ll
Q.5 | Wrile chemical equations showing reaction of What is Bessemerization? How it is different
KMnO, with, alkenes and alkynes. 242 OR from cy‘clone separation? 242
_uf-Juf‘fJP Jdi'"(lﬁf/jl/ KMnG, L}fﬁlx;ljﬁ feilf = Cyclone se:parationd_.;?‘agBessemerization
Q.6 | Enlist any four fractions obtained by distillation of Differentiale  between  stratosphere  and
petroleum. Also write their uses. , x4 OR troposphere. 242
_udele':Frtéyﬁ?J%LF‘!LnJlba—ﬁfﬁJ#;/f_f.- _Q;ugajdﬁ/gsfulff’ﬁ/m
SUPPLEMENTARY TABLE —— 25A-1 24005 (D) ——
Atomic No 1]z |31 415s 6 | 7 ¢ [ 9 10 11| 12 |13 [z ] 15|16 ] 17 | 18 | 19 | 20
Symbol H He | U | Be g3 C N o} F Ne | Na Mg | Al Si P s cl Ar K Ca
Mass No 1 4 | 719 111 |22 14 |18 | 19| 20| 23! 24 | 27 | 28| 31 |32 |355] 40 | 38 | 40



